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Quiz 8

Question 1. (2 marks) Givend = (—3,2,—1), ¥ = (—1,1,0) determine whether the angle between
i and V is acute, obtuse or if they are orthogonal. ' ’

GV = (3,2, -0 (-l 1,0) = 3k 240=5 20
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Question 2. (5 marks) Given d = (—3,2,—1), ¥ =(-1,1,0)
(2) Find the orthogonal projection of @ on V.

(b) Decompose i into two vectors, one parallel to V and one orthogonal to v. Indicate which vector
is parallel and which vector is perpendicular. -
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Question 2. (3 marks) Find the cosine of the angle 6 between: i=(2,0,-1),v=(-1,1,1).
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